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QUESTION 1

Identify twotrue statements about Shell templates (Choose two.)

A. They require user-based permissions, rather than Group-based administration.
B. You cannot add users to templates to minimize additional administration.

C. You cannot share Shell templates across different Shell types.

D. They are used to create and update Shells of specific Shell types.

Correct Answer: AD

QUESTION 2

View the Exhibit.

Date Formula |
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Which two statements about the date formula built on the Vendor Active Date field are true?
A. It derives a numeric valueas the result.

B. It is an example of Date Difference.

C. Itis an example of date Add.

D. It derives another date as the result.

E. It derives a number as the result.

Correct Answer: A

QUESTION 3
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Which statement is true about Groups?

A. They can have managers who are not members.
B. They can have duplicate names.

C. They can be renamed.

D. They can be deleted.

Correct Answer: CD

QUESTION 4

What is the definition of User Snapshot?

A. view of a particular point in a sequence ofevents or a continuing process
B. version saved automatically when the Business Process is published

C. version saved automatically when the Business Process is completed
D. version that the user is working on

Correct Answer: A

QUESTION 5

You have added steps and links to create a sub-workflow. Identify the required next action.

A. Add trigger elements.

B. Complete sub-workflow properties.

C. Group the selected sub-workflow steps.
D. Ungroup selected sub-workflow steps.

Correct Answer: B
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